

A LEVEL SPECIFICATION FURTHER MATHEMATICS A MARK SCHEME 1

1) d = -3+2i BI p=-3-2i 23=13 B1 dtB=-6 2 + p22 - 52 +q=0 50 aB+BT+8d=-5 MI =) aB+(a+B)8=-5 SO 13-68=-5 M1 => 7=3 AI p=-(d+B+8) M1 = -(-6 †3) = 3 AI 9=-dpr = -13×3 AI =-39.

2) For
$$n=1$$
,
 $4 \times (-3)^{2} + 5^{2}$
 $= -12 + 5$
 $= -7$, so true for $n = 1$. B1
Assume true for $n > k_{2}$, and $n = 1$.
 $4 = 1$
For $n = 2$,
 $4 \times (-3)^{2} + 5^{2}$
 $= -36 + 25$
 $= -36 + 25$
 $= -36 + 25$
 $= -36 + 25$
 $= -36 + 25$
 $= -12(-3)^{k+1} + 2(5)^{k+1} + 60(-3)^{k} + 15(5)^{k}$ M1
 $= -12(-3)^{k+1} + 2(5)^{k+1} + 60(-3)^{k} + 15(5)^{k}$ M1
 $= -12(-3)^{k+1} + 2(5)^{k+1} + -20(-3)^{k+1} + 3(5)^{k}$
 $= -12(-3)^{k+1} + 5(5)^{k+1}$
 $= -12(-3)^{k+1} + 5(8)^{k+1}$
 $= -12(-3)^{k+1} + 5(8)^{k+1}$
 $= -12(-3)^{k+1} + 5(8)^{k+1}$
True for $n = 1$ and $n = 2$, and if true for $n = k$ and $n = k+1$, then true for $n = k+2$. So true
 $\forall k \in \mathbb{Z}$ by induction.
A1

3) i)
$$\lim_{k\to\infty} \int_{0}^{t} \frac{1}{1+2t} dx$$

$$= \lim_{k\to\infty} \left[\arctan 2t_{0}^{t} \right]_{0}^{t} \frac{1}{1+2t} dx$$

$$= \lim_{k\to\infty} \left[\arctan 2t_{0}^{t} \right]_{0}^{t} \frac{1}{1+2t} dx$$

$$= \lim_{k\to\infty} \left[\arctan 2t_{0}^{t} \frac{1}{2} dx + \lim_{k\to\infty} t_{0}^{t} \frac{1}{2} dx - M \right]$$

$$= \lim_{k\to\infty} \left[\ln x \right]_{1}^{t} + \lim_{k\to\infty} t_{0}^{t} \frac{1}{2} dx - M \right]$$

$$= \lim_{k\to\infty} \left[\ln x \right]_{1}^{t} + \lim_{k\to\infty} t_{0}^{t} \ln x \right]_{1}^{t}$$

$$= \lim_{k\to\infty} \left[\ln x \right]_{1}^{t} + \lim_{k\to\infty} t_{0}^{t} \ln x \right]_{1}^{t}$$

$$= \lim_{k\to\infty} \left[\ln x \right]_{1}^{t} + \lim_{k\to\infty} t_{0}^{t} \ln x \right]_{1}^{t}$$

$$= \lim_{k\to\infty} \left[\ln x \right]_{1}^{t} + \lim_{k\to\infty} t_{0}^{t} \ln x \right]_{1}^{t}$$

$$= \lim_{k\to\infty} \left[\ln x \right]_{1}^{t} + \lim_{k\to\infty} t_{0}^{t} \ln x \right]_{1}^{t}$$

$$= \lim_{k\to\infty} \left[\ln x \right]_{1}^{t} + \lim_{k\to\infty} t_{0}^{t} x dx$$

$$= \lim_{k\to\infty} t_{0}^{t} \frac{1}{2} x^{t} x^{t} + \lim_{k\to\infty} t_{0}^{t} \frac{1}{2} x^{t} dx$$

$$= \lim_{k\to\infty} \left[\frac{1}{2} x^{t} x^{t} \right]_{0}^{t} + \lim_{k\to\infty} t_{0}^{t} \frac{1}{2} x^{t} dx$$

$$= \lim_{k\to\infty} \left[\frac{1}{2} x^{t} x^{t} \right]_{0}^{t} M \right]$$

$$= \lim_{k\to\infty} \left[\frac{1}{2} x^{t} x^{t} \right]_{0}^{t} M \right]$$

$$= \frac{1}{2} \cdot t - \lim_{k\to\infty} \frac{1}{2} x^{t' 3}$$

$$= 6$$

$$A = \sum_{k\to\infty} \frac{1}{2} + \lim_{k\to\infty} \frac{1}{2} x^{t' 3}$$

4) i) cosht dN = sinh #(sinh # cosht - N) => cosht dt + sinkt N = sinh tosht $\Rightarrow \frac{dN}{dt} + tanht N = sinh^4 t$ MI IF= e Stonkrdt = cosht BI So Ncosht = Sinh tosht dt = 5sinht to So N= 1 sinht tont + csecht Al N(0)=0.5 =)c=0.5 MI so N= 5sinht + 0.5secht So N(0.75) = gsinh 0.75 tanh 0.75 + 0.55ech 0.75 M) = 0.444= 677 = 0.444= 677 = 440,000 bocteria. (i) The model predicts the population will grow without bound. B)

MI 5 i) cos(60) = Re [(coso + csino)) = $\cos^{6}\Theta - {\binom{6}{2}}\cos^{4}\Theta \sin^{2}\Theta + {\binom{6}{4}}\cos^{2}\Theta \sin^{4}\Theta - \sin^{6}\Theta A$ $= \cos^{6} \Theta - 15 \cos^{4} \Theta (1 - \cos^{2} \Theta) + 15 \cos^{2} \Theta (1 - \cos^{2} \Theta)^{2} - (1 - \cos^{2} \Theta)^{3} M$ = costo -15costo + 15costo + 15costo - 30costo + 15costo + costo - 3costo + 3cos20 - 1 M) = 32005 0 -480540 +180050-1 A1 (i) $\frac{1}{2}(32x^{6}-48x^{6}+18x^{2}-1)=\frac{1}{4}$ M) set x= cos⊖ \Rightarrow cos60 = $\frac{1}{2}$ A1 $= \frac{1}{2} \cos^{-\frac{1}{2}} \cos^{-\frac{1}{2}} \cos^{-\frac{1}{2}} \cos^{-\frac{1}{2}} \cos^{-\frac{1}{2}} \sin^{-\frac{1}{2}} \cos^{-\frac{1}{2}} \cos^{-\frac$

6) $2 + \cos 60 = 2$ $\Rightarrow \cos 60 = 0$ MI $\Rightarrow 60 = \frac{1}{2}, \frac{31}{2}, \frac{31}{2}, \frac{31}{2}$ total onea = $6 \times \frac{1}{2} \left[\int_{12}^{2^2} d\theta H \right] - (2 + \omega d\theta)^2 d\theta M$ $3n/12 = 3 \int_{12}^{3n/12} (12 + \omega d\theta)^2 d\theta$ 11/12 311/12 $= 3 \left(\frac{-1}{2} - \frac{1}{2} \cos 2\theta - 4\cos 6\theta \, d\theta \right)$ A1 1/12 = 3 [-20 - 24 Spal20 - 23 Sin60] $= 3 \left[\left(-\frac{3\pi}{24} - 0 + \frac{2}{3} \right) - \left(-\frac{\pi}{24} - 0 - \frac{2}{3} \right) \right]$ $= 3(\frac{4}{3} - \frac{\pi}{10})$ $= 4 - \frac{\pi}{2}$, A)

7. i)
$$f(z) = e^{-x^2}$$

 $f'(x) = -2xe^{-x^2}$
 $f'(x) = e^{-x^2}(4x^2 - 2)$
 $f''(x) = e^{-x^2}(8x - 2x(4x^2 - 2))$
 $f'''(x) = e^{-x^2}(8x - 2x(4x^2 - 2))$
 $f'''(x) = e^{-x^2}(-2x(-8x^3 + 12x) - 24x^2 + 12)$
 $f^{(a)}(x) = e^{-x^2}(-2x(-8x^3 + 12x) - 24x^2 + 12)$
 $f(o) = 1$
 $f''(o) = 0$
 $f'''(o) = -2$
 $f''(o)$

8. (-3) is perpendicular to plane. ge, ways Y D A C 2 + + $\begin{pmatrix} 1+2\lambda\\5-3\lambda\\1+\lambda \end{pmatrix} \cdot \begin{pmatrix} 2\\-3\\1 \end{pmatrix} = 2$ MI ⇒ 2+42 -15+92++1+2=2 142=14 => >=1 M1 meets place at E = (3 maz) $SO D = \begin{pmatrix} 1 \\ 5 \\ 1 \end{pmatrix} + 2\begin{pmatrix} 2 \\ -3 \\ -1 \end{pmatrix} = \begin{pmatrix} 5 \\ -1 \\ -1 \end{pmatrix}$. Al $\begin{pmatrix} -3 \\ h0 + 2 \\ +2 \\ -3 \\ -4 + 2 \end{pmatrix} \cdot \begin{pmatrix} 2 \\ -3 \\ 1 \end{pmatrix} = 2$ = 2a+4x+9+92 => -6+42-30192-4+2=2 M] 14λ= 42 =) $\chi = 3$ meets place at $F = \begin{pmatrix} 3 \\ 1 \\ 1 \end{pmatrix}$ so $C = \begin{pmatrix} -3 \\ 10 \\ -7 \end{pmatrix} + 6 \begin{pmatrix} 2 \\ -3 \\ 1 \end{pmatrix} = \begin{pmatrix} +3 \\ -8 \\ 7 \end{pmatrix}$ A] So $|AD| = \sqrt{4^2 + 6^2 + 2^2}$ $= \sqrt{56}$ $= 2\sqrt{14}$ $|Bc| = \sqrt{12^2 + 18^2 + 6^2}$ $= \sqrt{504}$ $|Bc| = \sqrt{12^2 + 18^2 + 6^2}$ $|Bc| = \sqrt{12^2 + 18^2 + 6^2}$ $= \sqrt{504}$ $|EF| = \sqrt{8\sqrt{35}}$ $|EF| = \sqrt{8\sqrt{8}}$ =6514

9) (1)
$$\frac{dx}{dt} = 3x - 15y$$
 \Rightarrow $y = \frac{A}{5} + \frac{1}{5}x - \frac{1}{15} \frac{dx}{dt}$
 $\frac{dy}{dt} = 6x - 3y$ \Rightarrow $y = 62aaA^{2}xy$
 $\frac{d^{2}x}{dt^{2}} = \frac{3dx}{dt} - \frac{15}{6}\frac{dy}{dt} \Rightarrow \frac{dy}{dt} = \frac{1}{5}\frac{dx}{dt} - \frac{1}{15}\frac{d^{2}x}{dt^{2}} = M1$
so $\frac{1}{5}\frac{dx}{dt} - \frac{1}{16}\frac{d^{2}x}{dt^{2}} = 6x - \frac{3}{5}x + \frac{1}{5}\frac{dx}{dt} = M1$
 $\Rightarrow \frac{d^{2}x}{dt^{2}} - \frac{d^{2}x}{dt^{2}} = 690x - 9x + 3\frac{dx}{dt}$
 $\Rightarrow \frac{d^{2}x}{dt^{2}} + 81x = 0$ A1
 $\Rightarrow \frac{d^{2}x}{dt^{2}} + 81x = 0$ A1
 $\Rightarrow x = Accsqt + Bsin qt = A1$
 $y = \frac{1}{5}x - \frac{1}{15}\frac{dx}{dt}$
 $= \frac{A}{5}cosqt + \frac{B}{5}cinqt + \frac{q}{15}Asinqt - \frac{s}{15}Bsisteqt M1$
 $= (A - \frac{3B}{5})cosqt + (\frac{Bt3A}{5})sinqt = A1$
So boly perfects undergo SHM.
(i) $x'(0) = 0 \Rightarrow A = 0$
 $x'(0) = 90 \Rightarrow QB = Q0 \Rightarrow B = 10$ M1
so $x = 10sinqt$
 $y = -5cosqt + 2sinqt = A1$
 $1bchqt = -6cosqt + 2sinqt = A1$
 $1bchqt = -3/4$ M1
 $\Rightarrow 1x = 0, 2785 condt$ A1

ton91=-34 => sin91=3/5 So x=y= 10x 3 M) = 6 cm from the origin in the positive direction. A)